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�D�FKHPLFDO�UHDFWLRQ�LQ�ZKLFK�WKH�SURGXFWV�
FDQ�UHDFW�WR�UH�IRUP�WKH�UHDFWDQWV�LV�FDOOHG�D�
reYerVible reaction

�D�UHYHUVLEOH�UHDFWLRQ�LV�LQ�chemical 
equilibrium ZKHQ�WKH�UDWH�RI�LWV�IRUZDUG�
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DQG�WKH�FRQFHQWUDWLRQV�RI�LWV�SURGXFWV�DQG�
UHDFWDQWV�UHPDLQ�XQFKDQJHG�
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:KHQ�+U[Q�!����WKH�UHDFWLRQ�LV�H[RWKHUPLF��VR� DQ�
LQFUHDVH�LQ�WHPSHUDWXUH�ZLOO�VKLIW�WKH�HTXLOLEULXP�WR�WKH�
UHDFWDQWV�

:KHQ�+U[Q������WKH�UHDFWLRQ�LV�HQGRWKHUPLF�� VR�DQ�
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/H�&KDWHOLHU
V�SULQFLSOH

$Q�LQFUHDVH�LQ�SUHVVXUH�ZLOO�VKLIW�WKH�HTXLOLEULXP�WR�WKH�
VLGH�WKDW�KDV�IHZHU�PROV�RI� JDV���

$�GHFUHDVH�LQ�SUHVVXUH�VKLIWV�WR�WKH�VLGH�ZLWK�PRUH�PROV�
RI�JDV�

3UHVVXUH�KDV�QR�HIIHFW�RQ�HTXLOLEULXP�RI�QRQ�JDV�
UHDFWDQWV�DQG�SURGXFWV�

What is the equilibrium expression for the equation
NH4Cl(s) <==> NH3(g) + HCl(g)?

 What is the equilibrium expression for the equation

As4O6(s) + 6C(s) <==> As4(g) + 6CO(g)?

 What is the equilibrium expression for the equation

SnO2(s) + 2CO(g) <==> Sn(s) + 2CO2(g)?

 What is the equilibrium expression for the equation
CaCO3(s) <==> CaO(s) + CO2(g)?



5-quiz on thermo, lecture Chemical Equilibrium.notebook

4

May 21, 2019

In an experiment conducted at 74°C, the equilibrium
concentrations of reactants and
products were [CO] = 1.2x10 -2 M, [Cl2] = 0.054 M and
[COCl 2] = 0.14 M.

Write a balanced equation, the equilibrium
expression, and determine K eq

For the reaction N2O4(g) <==> 2NO2(g), Keq = 0.2. At a particular
time, the following concentrations are measured: [N 2O4]=2.0 M,
[NO2] = 0.2 M. Is this reaction at equilibrium? If not which direction
will the reaction proceed?
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One student performed an experiment in which
nitrogen and hydrogen gas were
mixed together to form ammonia. Equilibrium
concentrations of the three species
were [ammonia] = 0.157 M, [nitrogen] = 0.921 M and
[hydrogen] = 0.763 M.

Write a balanced equation, determine the equilibrium
expression, and find K eq


